Example 1
COVER GREYS + TONER

Example 2
LIGHT UP WITHOUT WARM SHADE

Example 3
DYE DIFFERENT % OF GREYS

Roots_Natural height 5 - 50% greys
Mid to ends_Dyed with 7. Also with reddish / orange
highlights.

Roots_Natural height 5 - 0% greys

Mid to ends_Balagaye height 10 with golden shades.

Roots front_ 100% greys
Roots back_Height 5 - 30% greys

Mid to ends_Dyed with 8 + warm shades

To cover greys and obtain a natural shade without

warm shades.

Cold root height 6 & remove golden shades on the

balayage area.

Cover the greys slightly with cold shade in height 8 &

correct the golden shades from Mid to ends.

Roots_ Lumiere 7 30g + Lumiere Cool 7C 30g
+ Peroxide 30 Vol. 60 g

(30 Minutes)

Mid to ends_ Lumiere Cool 40g 7C

+ Peroxide 20 Vol. 40g

(10/20 minutes, professional criteria)

Roots_Lumiere Cool 6C 30g

+ Peroxide 20 Vol 30g

(30 Minutes)

Mid to ends_Blue Milk 30g + Peroxide 10 Vol. 60g

(10/20 minutes, professional criteria)

Roots front_ Lumiere 8 55g + Lumiere Cool 8C 5g
+ Peroxide 30 Vol. 60 g

(30 min)

Roots back_ Lumiere 8 30g + Lumiere Cool 8C 30g
+ Peroxide 30 Vol. 60g

(30 min)

Mid to ends_ Use a cold shade of Lumiére (Example
8.13

(10/20 minutes, professional criteria)




